1/0 do/dsqrt{d } [GeVY

Ratio to ATLAS

o o
o
(0]

o
o

o
o
\l

o
o
>

[EEY

0.5

7000 GeV pp Jets
e 1 | ' ' T HE
= 1%
- Splitting scale| d;, (anti-k (1.0), 300< p_< 400, |y| < 2.0) _:g
—  m  ATLAS 13
-3~ Herwig 7.2.0 default —n
- —a— Pythia 8.176 default i
— ¢ Sherpa 1.4.3 default i
= m
- 1"
— Bk

o™
L s
B ™M
— =S
A o
| . 1o,
- m
-/ =z
I X
- e
- % 156
__ﬁ = =
~ 48
- 14
— 5
— e i -1 <
— ) ol - 1 U
n | L, | | | Ml il R | -
= | | | . | ' ' ! ' B
= —2
1
L —0.5
l . l . l
0 50 100

sqrt{dlz} [GeV]



	Contents
	Page 1


